Cp +he Side |
enaths  3,4,5 make a right AT

N -
Na*rd> = '3 L5 (mbaj/ a* )a
Y-394( T8> = (a8

@ . E"T 5{3"]
-3 =5

(atb). (a-
(a-b) = Y+ 2¢Ot (B B
- A4 -%-1Lkz- O



H
|4 € H#3 B e
—— dx

- u= {nexe)
du= _;T dx
i 5 CDS(‘*—)dL{. = S‘(r\(u) n C
= = S\\f\(\r\ay,)-j—c
|4 Fq g
- X
ot oeoseNdx AT €
i C}JUL: eX le
? when x= [nd
T
“ CO%udu, Q :‘LE{
%=y 1T
- ( nj
Slﬂkt: I— "T' -4_ € '\-B:T——_-
s 3 ’q ._-i _gﬁvg
1 2 %= N3-7=



\fwowé THE YOLUME OF A S6LIO oF REvoLuT ony

b b
kSlq\(( Q(,))de = ([\T‘S\a' (ch))gdbc
—E—XJ a portion of +he graph of Cx)=x8inx is

shown. \

a) Fad the area
e +he shaoled o B

rpg'\or\ r i

Fod A €60=0
X SWinX=0 -
N6 sink=0 S“

)&=o,’h']ﬁ s X Sinlx)alx = D, v
b)) Fiad  rolume of Solid o€ reu,

N

gb-’?r
Dsieetfdr 13 8



Bm be"ruJeﬁ(\ R curyes

Sb
a (C+°FB—(ba#+cm§)d>(

__g-_\é’ 3\*:0.4)() lﬁz RV at

T1a (oD LImITS OF INTEGRATION —~
C,)QAPH on CALCULATOR « Fimwl PaIaTsS

( x—coa(ZDB O INTERSECTION

D\\'BS-
o
SO SH'\X"-O q\JX r\,O(oQB

AW 4G o509 #1735,



